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+6

5×(−5)  +   0×11  +  4×6  =  −1. 

[  a11A11    +  a21A21 + a31A31 ]



the full working ( without the above 
sign typos ! ) follows on page 262 ...
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let’s now substitute each of the 
values of  λ found,  trying λ1 first ...
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Requiring                             and using that 

gave us:    
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Requiring                             and using that 

gave us:
now ...    
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To find the eigenvalues of the system (corresponding to the 
eigenvectors of the system that preserve their direction as time 
evolves .... Note that since eigenvectors are only defined in terms 
of their direction, when a system is in an eigenstate then it 
remains in that eigenstate ) ... 
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